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10.

11.

12.

4.4WWEEHWE$TSTPWWW| 1

Write the volume of 4.4 gram carbondioxide at STP.

a1 faeros 1 gy fS2 1 Define the buffer solution. 1
02, Mg, Na*, F, Al &1 319t 341 % @ed %A o oafedd Hifed 11

Arrange O, Mg*2, Na*, F:, AI*? in the increasing order of ionic radius.

fergit witeitsr § goragid, Wielq a1 gl Il GEAT HH: 18, 16 A4 |

16 ¥ 1 3H ygE Yt fofad | | 1
The number of electron, Protonand neutron in a species are equal to 18,
16 and 16 respectively. Assign the proper symbol to the species.

arary wvars &t afiama 9% 1 Define the bond length. 1

fadiof orerd it IgrRTO AT THTER ) 1
Explain extensive properties by appropriate examples.
g a1 37 919 aw qEfE g g 1

What is dry ice, Give name and chemical formula.

A aen Tafifen =t we= S Give structure of furan &pyridine 1

(i) 3% 99 & §2 What is Acid rain. 2
(i) 3 o | 39 =7 99Ea # ?What do you mean by Ozone hole.

T W 2 NOCI(g)e> 2 NO(g)+ Cl, (g) ®9 1069k a9 WX |y

feerreh K191 3.75x 1047 1 30 19 W I aifufimar ¥ o K @&t

T e | )

For the equilibrium 2 ;\'OC'i(g)'c:- 2 NO(g)+ i, (g] the value of

the cquilibrium constant, K_is 3.75x10* at 1069k : Calculate the K for
the reaction at this temperature? P

K 3K, U Ty wyfyg i | . 2
Derive relation between Kp and K. :
frafafaa W@ F TUPAC ™ ferfaa- 2

(Write 1UPAC names of following compunds ) -

() CH, - cil: -0 - Tf - CH, CHPJ (ii) ~f__ CHO
0O O

(i) CH,O - C (CH,), (iv) H,N - CH - CH - CHO

' COOH C(|)OH
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aﬁ%wﬁﬁ C1, ¥ vafed T} T A 8, TR G WHEE |
What happens when Cl, gas is passed in lme water. Explain
with equation. 2

OlKgEEET‘rTHGﬂ'(IOms éﬂﬁnﬁmlﬁ@ﬁzﬁm%ﬁw

Ui P 2
What will be the wwelength of a ball of mass 0.1 Kg moving
with a velocity of 10ms'?

wﬁém%lwmmmumﬁmﬁl - 2

Define viscosity and Explain effect of Temperature on viscosity.

frafatay ol § v {Eifed ad S et 9 F1d S

Find out oxidation number of the underlined element in fol-
lowing species : 2
(i) Mn,0, (ii) Cr,0; (111) H,SO, (w) C.H,
aﬁaﬁmm%wi‘a@mﬂgmaﬁ uma‘taﬁfh#
T | - 2

~Write the cause of permanent Hardness. Explain washing soda :

methed for its remoal. | ,
TR 30 1 SN A qfhierd Ffed | 2
Calculate molecular mass of glucose molecute.

(31) 120 YA A A T B [UPAC T q41 Feiieh F1 g2
What could be thc IUPAC name and symbol for the element
with atomic number 120?

(F) YFATE ST S YO QDY IR o . T o1 S
gt | Stfus =i g 7 gHeEd | 1+2=3

Explain why cation are smaller and anion Iarger in radn than
their parent atoms?

(37) BRSNS o9 F IRy AT Define Hydrogen bond.

(9 PCI, 37 H e 1 T | 142=3

Desmhc the hybridisation in case of PC‘JI
(1) <ifcen st 9 Taet Spa AT T T &2 142=3
Why is boric acid considered as a weak acid. |

(%) WWKW%Wﬁ?H‘EW%WG‘H#@&H@

ST @ | x ST A Ui ot e

A certain salt x. Swells up to glassy material x on strong heat-
ing. Give Ndame of x and chemical reaction.

(a1) fafemit @ &7
(F) F1 B €, 54 K A K Afufrn it § e 9w g,
IR it T A AR o e A
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" What happens when diborane react with give structure of prod-

23.

24,

25.

26.

- 27.

28.

uct and chemical reation. .
mwﬁaﬁmmwmﬁaﬁaﬂ@i 3

Draw labelled diagram of the: apparatus used in the Fractional

Distrllation. - a'ta’

CH, O%Wﬁﬂmawua“r mqm,a‘a-ﬁslumcw
| - ' - .3

Give IUPAC. Names and structural formulas of all possible

isomerms of C.H 0.

Wmm@ﬁmﬁlﬁaaﬁmﬁmﬁamﬁmﬁﬁﬂm

- Giing justification, categorise the followmg molcculcahons as

nucleophileor electrophile :

H,, BF,,C,H,0",(CH,), N,CI*, CH,CO, NH,, N O,

T TR ‘A" SN TR R 4293 A qar e = .-

W € ¥ 1 A 1 [UPAC 1 a9 Seae S SRS

An alkene A on ozonolysis gives a mixture of Pentane-3 on -

and Ethanal, write structure and IUPAc name of ‘A’.

() Gﬁammammaamm (B.0O.D.) ¥ 39 TN TEHA
g2
What do you mean by Biochemical Oxygen Demand?

(&) WF 39 uWE & ol e T et 2 2+1=3

List gases which are responsible for greenhouse effect.

R Fargd (Explain reason ) - 2+42+1=5

(31) MgSO, 5 H faer g €, Shafs BaSO, difaera v 21
MgSO, soluble in water while BaSO lssoluble in water.

(a)aﬁqﬁkﬂvﬁﬁmmﬁﬁmmaﬁm%r

Why beryllium and Magnesium do not give colour the fire.
(%) @R pF;" amaA & a1 wea R )

Boron is unable to form BF;”

. () g=a- 1»@ﬁ%%mauﬁaﬁmﬂmm€s

[UPAC ™ Sifsa | 2+241=5

(i) TS Y arufeufy (n)mﬂwﬁﬂﬁlﬁ

Write TUPAC names of the products obtained by addition re-
actions of HB to hex-1-ene.

(i) In the absence of peroxide and (ii) in the presence of peroxide.
- P.T.0. Faz

RBSEonline.com

Wod dUIUOFSAN



WO dUIUOTSHY

TUPAC = fafed

R:BSEonline.com

‘ _ @ -
() ¥F0-2-%1 9 woww (fw) oo fooe (i) FEATE T |
T | HR s F FauEE 59 9 € ok 540

Draw the Cis and trans structures of hex-
will have higher b.p. and why?

(]) K%aﬁéwﬁqﬁﬂwﬁamﬁﬁmfﬂmmmmﬁml

Give chemical reaction to convert Ethyne into benzene.
or ( 31Yar) o

zene. which isomer

How will you convert Propyne into propane. (Give only chemi-
cal equation.) o

() u‘jﬁa%.ﬁﬁq%%ﬁ%ﬂm%mwaﬁ ST
it | sififiran 1 Tt e o ftfiag —
Sodium salt ofwhichacid will be needed for the preparation of
propane? Write chemical -equation for the r

eaction.
() 2-ufuc IR =t wram fafad, fean o 5w IYS T A2 W

l’

- Write structure of 2-Ethyl pentane, why are the given name in

30.

correction. Write correct IUP*AC name. 5
() CH,CO0" + 3= wrerd, feafter sk ok Wi g1 sl
EEREEe g - - 2+3=5

Write reasonance structures of CH,C00" and ‘show the move-
ment of electrons by curved arrows.

() 0246g Frdfrs Afir & f = % HERIRY 0.198g wHisA
STRIILE T 0.1014g ST W1 B ¥ | Aiferer & 7 7o ez

o iaeramstt @ TvET e

On complete combustion, 0.246g of an organic compound.
gave 0.198g of carbon dioxide and 0.1014¢ of water. Deter-
mine the percentage composition of carbon and hydrogen in
the compound. _ e

' or ( 31Yar)
(37) WAl T ST Wearmy, <ifir

Give the reasonating structure of aniline.

() s ¥TRA 7 Sfogrr 9 gugmed )

Explain Hyper conjugation in ethyl cation,
() " SR-90gN" T E? What s “Lassaigne’s test”

000

+242+1=5
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